Solutions to Homework No. 6 (Chapter 2)
Review Questions
19. When you push on the wall, the wall pushes on you. It is the force of the wall on your fingers that bends them.
23. Each of the equal forces act on different masses.
32. The diagonal represents the resultant vector.
 Exercises
15. 100 N, the same reading it would have if one of the ends were tied to a wall instead of being tied to the 100-N hanging weight. Although the net force on the system is zero, the tension in the rope within the system is 100 N, as shown on the scale reading.
18. The acceleration of any object is a = Fnet/m, and Fnet in free fall = mg. So a = mg/g = g. The greater the weight the greater the mass.
38. The heavier tennis ball will strike the ground first for the same reason the heavier parachutist in Figure 2.13 strikes the ground first. Note that although the air resistance on the heavier ball is smaller relative to the weight of the ball, it is actually greater than the air resistance that acts on the other ball. Why? Because the heavier ball falls faster, and air resistance is grater for greater speed.
